ER 203001 SES# (2

jl*oﬁ (C,'(\I on S

~ N
P""Hicff\(am 2nlo « (n e

Qs How oo we Tind

A ?0\0“1 E 0w "flk(

a [(Nwe (defevadined \]

P}p=.’fa=ma
closest to b 2

F: \lu'fe.r(cc.'l':h.- Lﬂf & l\iue T‘Ava%)’l« _b_

'('t/\aj s O‘\r'f(/lo‘)'oua_e To 2\_

( ?__‘ . E_a_- have lbw\\‘ev distaw ce )

th Pve &“S(ch
) -
Thal oY f_ af &w arf»ox. od _|g_

- lD - P s ~he evwor vec (s~

_t‘/\c/\/\
K a\wJ <he Naue o] 4

= ﬂ
b
-\ N 2

= Tﬂ_’xtﬂ& D x = =



’\/ow ; W e \A&V(

A 7\
P=xaz ax=a

(Aou\o\\wj' k olauu\o\eS _E N A"‘*\"‘l\"“"j a C{oﬁs

NOT c¢tfect P )
Pwaec—ﬁm w6 v X ( P = P_‘_g_ >

Bl -
P - a 5 .% _ Q_ﬁT L: (Fav 30)
— ava ala — o 3%3
u 6\9_--( & \’ﬁuk"o“c
P - — WAkt £
5.('2\' & &K nuwbe,
(pwudu,ve 5 E‘?v\c\ {)c\—-)_P_ — P )
Sgecl case T2 T b=a R=|
= Pa=a (p) of & oo g s TlO)

g"(c‘ia_ﬂ Case I ¢ TI bla gb=o
= F =2
Note 3 3 Coﬂhs‘;ace o3 P s ‘P"-"""‘e“l l’j
&2 (¢ R~ a.v\J b  Pb Nec own
<he Bue deTerw ned \U )

Nofe 22 vauk CPY =1

Note 37 P s Smee‘f\; C -
T U a4

CP-T':_ a3 ___L(QiT):—}-—:P)
afa  ala S



(Pb =Pb o P(PbY=pb

G * —_

2 P’I’;;). oy G ved (o Q‘V?G\_JJ v & (S

TCsel€ )
NoTe L T1-9 °7s a[;o &?P:J-LC:CW

(@'_—P)\.’i = .\’-"’_P__"'-E N ~he (et v\Mﬁerar(
© a °Ff Q—rg - © )
( P 0 PNjQL_( 6V o oune Su\oc()ac-e

1_._\) 1; - .. T‘/\( Fwad'cu\M
gulo-;('mucc )

P &€ C(A)

—

__ES th-(, ijgc‘( __Li onto

<hen <lue A//;E: P

—

PNMIC-CT‘\"-’M onrnTo (o §u\9;?ac(

3
P”“?\ICCT\!W anto a pl&m( N P )

If A, @2 ave LCLS\IS éj C~ P(&ue

— N —

D the P(au\f S C(A) -7 A = [“}J §_¢J



_.[h jwwaaQ, ~t o~ a So\\oq‘)aC( SS Rh

W_;'C\I\ n \(r\.A‘(P\ L&&S é_l oot ‘_G:_‘_A-

= Su\per? Ts CCA) oF A- Ea-‘-‘t”"“f-"]

MY

waa\em:t\lwcl _E“"‘ S closest —to __b_

7\

/\ A
ShTwce E_GC(A) kE:A-/)}F:/)(\é_lrt-xn‘ﬁ’XM&q

)

P C,[uQQS'( T _L__

—

p= Ax

—AATAH AT D Q =k -1 L S
= Pb A
o~ b-Ax L ¢
) € - A X ?QV?CV\A\CMLQ\/ wxh & <Gu
ﬁ@f(\f_ A%)=> 1
- R — QA — |
‘o _ —_ 7\
——l (*‘—AS)‘T-D e \ _lf_-‘A'r_X:o
B
~an - L N

A
> Al(b-A%X)=2 =,&7A§—AT£




(as Ts ATA Swetidle 2
\\fes T3 N Qs &S /AV ot ,Q.?m-\fwdf‘). )

( \1:(9./( Pch ‘fliis lc’:tw)
Fyad B
P:=AX=A(AAYA L
~— =
?voacC'(\iw waeTvix P = A(ATA)AT
(Fad 252 - PO

N - N
A('&eywo:(t ve devivaTlimn

1, Ouv ‘;w\g;?a(c s C(A)

2. evvoy \ector g:h—Afﬁ _\,((4)
2o So e Yw lett Vw.us?ac( oJ A

( CQA{) X /\/(AT) O~ @ ov’f\/\ojouq_ﬂ

Cmv(emcw-(s’)
T 5 ~
> ATe = AT(L-A% )=2

( b s‘,\‘fﬁc(l S el E 8 < )

(€cra)) (enmdh)
gql)@ C‘(@Q Cas$eS

1. biccd): bLeNA™) £ Ph=2

2., lQ_GC('A\;AQ(_-_-_E_ 'Ew&um-eﬁ
2Pl =k



Q: Caw we Lorther g‘“fh-{j P:A(ATASr/[Tf

P=AAAYA - ACAT@IHAT
=(AaA™") (A)'A)
=17

w"""jz A s Ve C(awd'u&av =) A \mws N o

Swvevse watnx Z

pa.ct _ T =
P - P - P — P (S—ﬂQL'{«uC—E‘V
Se/v\eka W )
C('ZC‘(Q.Mcg T }3_ <y tle Culos"pac{ = [[g_“

T—ac'( A_(A s laver T L\Q S A hes Q5w

‘*‘ch\e‘). cof.s
P 5 Tovel, we wart To show <]

ATA R A have Same hu-QQc'(;acc.
TS o~ s va NCA) then AX =2

S ATAX = AT(2) =2

> &% Yn N(ATA)
I3 X e NMCATL) | thewn AAK =0

> XTAAR = 872 = 0

S A= =3 A4 =0 D xeN@A

\



So A2 ATA kave Same ud_!qu,c(
Now 7T A kes \.._Jer¥ cof g
thew rank (A)=n = AN (4A) =727
= N((A'A)=%23 2 ATA 5s mvedible
I ATA Sevetible | them ATA hos Nadep.
(29 .« D N(AA)=(2) 2 NM(4)=F2])
> A s Nadep. GRS

E&(? (av\ \9 > ‘fc_c‘(\’h"(c— )

IT A- 'e k\f_:[f]:ﬁué?\
[ll] ° 3 P

Y



—

l
_C: = _L# -'E = L_&J C\}MQ&CGC( L baoth ¢5h s
( 5§ A )
To —ﬁ.\w&cl _E _FW Cve\rj _E_ ‘ W ¢ V\((J P

P=ACAA) A"




